
Answer on Question #83321 – Math – Calculus 

Question 

 

Find the maximum and minimum values of the curve and distinguish them. y=x^3-6x^2+9x+6  
 

Solution 

y = x3 − 6x2 + 9x + 6  

𝑦′ =  3 ∙ 𝑥2 − 12 ∙ 𝑥 + 9  

𝑦′ = 0,      3 ∙ 𝑥2 − 12 ∙ 𝑥 + 9 = 0,     𝑥 = 3,    𝑥 = 1 

𝑦(1) = 10,   𝑦(3) =  6  

𝑦′′ =  6 ∙ 𝑥 − 12 , 

 𝑦′′(1) =  −6 < 0      hence, 𝑥 = 1 is a point of maximum. 

𝑦′′(3) =  6 > 0          hence   𝑥 = 3  is a point of minimum. 

𝑥 1 3 

𝑦 10 6 

𝑦′ 0 0 

𝑦′′ -6 6 

Conclusion ⋂, max ∪, min 

 

Graph of the function: y = x3 − 6x2 + 9x + 6  
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